FAMUUS TATE	Invoic	e	Number NT072 Delivery I	
APPLIANCE &	Order Written: 07/29/	2019	08/10/	
BEDDING CENTERS			Due Date	
8317 N Armenia Ave			08/10/	2019
Tampa, FL 33604 Phone: (813) 935-3151 Fax: (813) 935-1491			Page	1
Sold To:		Ship To:		
SalesPerson — PO Number - Bruce W.		Comment LONESTAR 8/5/1	19 A/ NOON	
	Ship Method			
PrePayment	Delivery			
Dishwasher to be insta be needed at additiona 1 1 0 HAUL AWAY REPLACE NONE 1 1 0 FFCD2413UW Serial: (1) TH90703223	Model Number Description DVFAMOUS TATE, STANDARD REPL Inled by: Lonestar Appliance Installation In charge. Your installer will EDFAMOUS TATE, Sales associate-Lis FRIGIDAIRE, DISHWASHER BI WH	n Inc. NOTE-Addi t APPLIANC	Unit Amount \$119.95 lional materials may \$0.00 \$249.00	Extended \$119.95 \$0.00 \$249.00
DELIVERY TEAM WILL CALL ON M MERCHANDISE USED FOR NON-F	O EXCHANGES AND RESCHEDULE MORNING OF DELIVERY & PROVIDE RESIDENTIAL APPLICATIONS MAY V I REQUIRED ON ALL SPECIAL ORDE	A 2-HOUR TIME OID PRODUCT R MODELS	WARRANTY.	
FAMOUS TATE IS NOT FINANCIAL ALL APPLIANCE ACCESSORIES PRODUCTS & GAS PRODUCTS CUSTOMER DECLINES EXTENDE	,VENTILATION PRODUCTS ARE NON-RETURNABLE.	, ICE MACH		ERCIAL
FAMOUS TATE IS NOT FINANCIAL ALL APPLIANCE ACCESSORIES _ PRODUCTS & GAS PRODUCTS CUSTOMER DECLINES EXTENDE CLEARANCE ITEMS SOLD IN AS-I UNTI IS 0010 BEING SERVICED.	,VENTILATION PRODUCTS ARE NON-RETURNABLE. D WARRANTY AT THIS TIME	, ICE MACH	ONAL WARRANTY	ERCIAL

NOTICE FOR SPECIAL ORDERS
In order to ensure your complete satisfaction, please note that SPECIAL ORDER items
require a minimum 25% NON-REFUNDABLE DEPOSIT. In addition, special order
items are subject to a RESTOCKING CHARGE and certain items may be
NON-RETURNABLE.Sub Total
Taxable Sub Tota
Tax 8.5%
Total
Visa 00436C
Payments
Balance Due* Minimum 25% non-refundable deposit on all special orders. * Returned goods subjectBalance Due

* Minimum 25% non-refundable deposit on all special orders. * Returned goods subject to a minimum 20% restocking charge. * Orders not claimed within 6 months will be voided and deposit forfeited.

Summary ———	
Sub Total	\$368.95
Taxable Sub Total	\$249.00
Tax 8.5%	\$21.17
Total	\$390.12
Visa 00436C	\$390.12
Payments	\$390.12
Balance Due	\$0.00

FAMOUS TATE APPLIANCE & BEDDING CENTERS		Invoice Order Written: 01/16/2019		
8317 N Armenia Ave Tampa, FL 33604 Phone: (813) 935-3151			Due Date 01/23/ Page	
Fax: (813) 935-1491 Sold To:		Ship To:		
SalesPerson ——— 190 Nu	umber ————————————————————————————————————	#		
Mike D	Ship Method		your Purchase! Mi	ike D
PrePayment	Delivery			
1 1 0 3WRANGE4F (0 1 1 0 HAUL AWAY RE	Model Number Description 13-017) RES MARKETING, RANG PLACEDFAMOUS TATE, Sales as	GE CORD 4/3 WIRE 4	Unit Amount \$24.00 \$18.00	Extended \$24.00 \$18.00
DW AND RANC 1 1 0 JB645DKWW Serial: (1) AM00.	GE, RANGE FS WHITE		\$498.88	\$498.88
DELIVERY TEAM WILL CAL MERCHANDISE USED FOR 25% NON-REFUNDABLE DI FAMOUS TATE IS NOT FINA ALL APPLIANCE ACCESSO PRODUCTS & GAS PRODU	PPLY TO EXCHANGES AND RES L ON MORNING OF DELIVERY & NON-RESIDENTIAL APPLICATIO EPOSIT REQUIRED ON ALL SPEC ANCIALLY RESPONSIBLE FOR 3F RIES, VENTILATION PRO CTS ARE NON-RETURNAL TENDED WARRANTY AT THIS TIM	PROVIDE A 2-HOUR TIME INS MAY VOID PRODUCT N CIAL ORDER MODELS RD PARTY REBATES DDUCTS, ICE MACH BLE.	WARRANTY.	IERCIAL
1.21.19 Called and left voice	mail to confirm delivery.ES			
			Summary ———	

In order to ensure your complete satisfaction, please note that SPECIAL ORDER items require a minimum 25% NON-REFUNDABLE DEPOSIT. In addition, special order items are subject to a RESTOCKING CHARGE and certain items may be NON-RETURNABLE.

* Minimum 25% non-refundable deposit on all special orders. * Returned goods subject to a minimum 20% restocking charge. * Orders not claimed within 6 months will be voided and deposit forfeited.

 Summary
 \$540.88

 Sub Total
 \$540.88

 Taxable Sub Total
 \$522.88

 Tax 8.5%
 \$44.44

 Total
 \$585.32

 Return RET NTR116900\$585.32
 Payments

 Payments
 \$585.32

 Balance Due
 \$0.00

FAMOUS TATE		Order Written: 07/23/2020		Number ST07230013		
APPLIANCE BEDDING CENT	& ERS		Scheduled: Monday	07/27/20	Date	
3347 Henderson Bl					07/2	23/2020
TAMPA, FL 3360					Page —	
Phone: (813) 253-24 Fax: (813) 254-234					1	1
Sold To:			Shi	о То:		
SalesPerson	PO Number	l 	Tax Exempt #	_ ∟Comment —		
Scott B.			-			- # D
Terms PrePayment		Ship Method Delivery		_ Thank you for	your Purchase! Sco	ΣЩВ.
Model Numbers		Delivery				
Qty Model Number	Brar	nd, Model Desc	cription		Unit Amo	unt Extended
1 ATFR1801EWE	ASC	OLI, REFRIGE	RATOR TM WHITE		\$549.	.88 \$549.88
Ihd	A	llo [·] ATFR18011	EWE / #### Loc: '090;	3'		
\$55 DELIVERY FEE V CUSTOMER TO REC 2-HOUR TIMEFRAME MERCHANDISE USE 25% NON-REFUNDA FAMOUS TATE IS NO ALL APPLIANCE ACO COMMERCIAL PROD	EIVE AUTON D FOR NON- BLE DEPOSI DT FINANCIA DESSORIES_	IATED NOTIFI RESIDENTIAL T REQUIRED LLY RESPONS ,VEN1	CATION ON MORNIN APPLICATIONS MA ON ALL SPECIAL OF SIBLE FOR 3RD PAR FILATION PRODUCTS	IG OF DELIVERY Y VOID PRODUC RDER MODELS TY REBATES S, ICE MA	Y THAT WILL PRON CT WARRANTY.	VIDE A
]	
NOTICE FOR SPECIAL OR To ensure your complete sa NON-REFUNDABLE DEPC NON-RETURNABLE. By si terms.	tisfaction, please SIT, are subject	to a RESTOCKING	G CHARGE and certain iten	ns may be	Sub Total Taxable Sub Tota Tax 8.50% Total Visa 5237	\$46.74 \$596.62 \$596.62
BY					Total Payments	\$596.62
CUSTOMERS	SIGNATURE		DA	TE	Amount Due	\$0.00
Minimum 25% non-refundal charge. Orders not claimed				nin. 20% restocking		

Bill Shields Roofing Co. OUR GOAL IS TO PLEASE 3400 Bay To Bay Boulevard • Tampa, Florida 33629-7043 Phones: 813-837-4008 • 813-839-7706 • Fax: 813-839-8665

INVOICE

Date:

7/13/2017

I his invoice is being submitted for services provided by Bill Shields Roofing Company at the address as stated below

Property Address

(if different than billing address)

Bill To:



SCOPE OF WORK PROVIDED

First, we would remove the old roofing. If necessary the wood deck would be re-nailed to meet current building code. We would then apply on Two (2) Owens Corning Re-Enforced fiberglass felt as a base sheet doubled lapped. We will install all new 6" white metal eave drip. We will apply a 36" self sealing valley material, a self sealing, starter roll. We will use six 1-1/4" hot dipped nails per shingle, Owens Corning Supreme 25 Year 3-Tab bonded fiberglass shingles, Driftwood. We will install Three (3) off ridge vents and 2 plies of self sealing modified roofing on rear lower sloped section and in the low sloped valley this roof carries a five year warranty of good workmanship from the date of completion of the work from Bill Shields Roofing. We will provide you with any manufacturers or product warranties available. Permit#BTR-17-0470510

Qty		Material	Unit Price	Total
		Original Estimate Total		\$6,925.00
5	shts	Plywood	\$51.50	\$257.50
216	ft	1x6x12	\$3.25	\$702.00
156	ft	1x8x12	\$3.25	\$507.00
60	ft	1x4x12	\$3.25	\$195.00
48	ft	2x6x12	\$3.25	\$156.00
72	ft	2x4x12	\$3.25	\$234.00
			TOTAL AMOUNT DUE	\$8,976.00

PAYMENT DUE IN FULL UPON RECEIPT

Make all checks payable to BILL SHIELDS ROOFING COMPANY

If you have any questions concerning this invoice, please contact: Shannon or Rhonda @ 813-839-7706

Thank you for your business!